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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

each sentence. Then mark the correct choice on your answer sheet.

What was intended as a peaceful demonstration rapidly ------—--- into violence.

1) agitated 2} degenerated 3) preceded 4) diseriminated
The Democratic Party ----—---- 70 percent of the vote,

I) garmered 2} esteemed 3) obligated 4) assembled
Some animals can -------—-- very high temperatures.

1) detach 2) submit 3).obstruct 4) withstand

Researchers have discovered that up to one half of all children born of alcoholics are

genetically ----——----- to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
Communication via the Internet gives an important —------- to international trade.
1) dimension 2) exposure 3) expenditure 4) distribution
Lack of childeare facilities can be a major -------——-- for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
It is a common --—------ that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
The ---------- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
The degree of punishment should be ———-—- — to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
Low inflation is the key to ~--—-—-- economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet,

11-
12-

13-
14-
15-

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Enipire. It was constituted by the Statute of Westminster,
(11} =mmemmee the British Dominions were recognized as ‘autonomous communitics’, (12) -------
the British Crown. Since 1947, when India chose (13) ------—---- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) -----—-—---- a total of fifty-three member states, is confined
(15) ~memmmmeee head of the Commonwealth. Given that its imember states have little in commeon
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

1) s0 2) which 3) so that 4) in which

1) binding together 2) bound together by

3) together having bound 4) having bound together

1) to remain 2) remaining 3) for remaining 4) to be remained
1) by 2) out of 3) within 4) outside

1) for 2) to who 1s 3) to that of 4) that she is
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20-
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3)
or (4). Then mark it on your answer sheet.

PASSAGE 1:

In an attempt to find some order in the series of climatic shifts that describes the history
of Earth, scientists have sought to define a pattern of warm-cool cycles that repeat after
a given period of time. They have, however, been largely unsuccessful. The proposed
cycles either don’t apply ‘to all times in the past or don't hold true for all parts of the
world.

One problem in determining patterns of climatic change is that many factors are
involved. Seme of those factors affect Earth's climate for millennia while others affect
it only for decades. In addition, some factors, such as Earth’s shifting orbit around the
Sun, are predictable and regular, while others, such as collisions with large objects in
spage, are not.

Human activity constitutes a whole category of factors affecting climate change in the
recent past and present. Defarestation, the burning of fossil fuels, and acid precipitation
{rain and snow that are made more acidic when carbon, sulfur, and nitrogen oxides in

the air dissolve into water) and smog (a layer of hazy, brown air pollution at Earth's

surface) caused by industrial emissions are among the real or potential agents of climate
change.

What is the organization of the first two paragraphs?

1) A series of climatic shifts that continue to attract Scientists-are listed.

2) An issue is raised and the complications connected to it are mentioned.

3) A number of climatic changes that mark the history of Earth are described.

4) A contrast is made between factors with long-lasting effects and those with short-term
impacts.

Which of the following is TRUE about the “The proposed cycles” in paragraph 17

1) They enly define patterns of warm-cool eycles that repeat after a given period of time.

2) They apply to all parts of Earth at a given time but do not hold true for all climactic changes
in the past.

3) They are reliable enough in regard to any short period of time in the past.

4) They are not as reliable as to give us a clear picture of Earth’s past climactic changes.

The word “others™ in paragraph 2 refers to -——-—------ :

1) factor 2) change 3) pattern 4) problem

According to the passage, a factor that scientists can foretell with relative precision is -,

1) Earth’s impact with large objects in space

2) changes in Earth’s path around the Sun

3) extent of human impact on climactic change

4) Earth’s climatic change for the millennia ahead

The main purpose of paragraph 3 is t0 ——----eee- .

1) stress the need to keep harmful human activities in check

2) compare the effect of human activities on climatic change with that of other factors stated in
paragraphs 1 and 2

3) demonstrate the role of humans in bringing about climatic change

4) warm us against the disaster that is awaiting us due to certain human activities
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21- For which of the following words or phrases does the passage include a definition?

1) Millennia 2) Deforestation 3) Industrial emissions 4) Acid precipitation

PASSAGE 2:

It has long been established that the amount of energy emitted by the Sun varies slightly
over the years. In recent years, scientists have made correlations between changes in
cycles of solar output and particular weather patterns. While there have been several
theories linking solar variation to long-term climate change, many more years of data
collection will be necessary before such links can be proven. However, the evidence
collected thus far presents a compelling case for the link between solar variability and
climate change—at least climate change on the scale of decades.

The variation in solar output is primarily based on cycles of sunspot activity.
Sunspots are dark areas of magnetic disturbance on the Sun’s surface. It has been
shown that when the number and size of sunspots is at a maximum, which occurs
roughly every eleven years, the Sun’s energy output is highest. This heightened solar
output is due to an increase in bright areas, called faculae, which form around the
SUNspots.

22- The word “established™ in line 1 is closest in meaning to ---------—--- .

1) erected 2) elucidated 3) hypothesized 4) substantiated
23- The passage states that changes in cycles of solar output are -----==e----- .
1) small 2)unpredictable
3) affected by weather patierns 4) frequent
24-  According to the passage, data concerning theories according to which solar variation and
climatic change are related ---——---- -

1) have not been tabulated yet
2) take so many more years for a sound interpretation
3) have been collected unsystematically
4) are insufficient to categorically confirm or reject the link
25- The word “compelling” in line 6 is closest in menaing to —-—----,

1) frail 2) meager 3) cogent 4) massive
26- According to the passage, the variation in solar output depends on -----—-—- ;
1} cycles of sunspot activity 2) dark areas of magnetic disturbance

3) what forms around the sunspots 4) what happens below the Sun’s surface
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PASSAGE 3:

In normal conditions, trade winds blow from the eastern Pacific (from the coast of
South America), where pressure is higher, to the western Pacific, where pressure is
lower. During El Nifio, the pressure over the western Pacific rises and the pressure
over the eastern Pacific drops, causing the trade winds to weaken or reverse course.
During La Nifia, the pressure gradient, or the difference between the high and low
pressure areas related to the distance between them, tilts more steeply toward the west
than usual. This is primarily because of the presence of very cold water in the eastern
Pacific, which increases the air pressure there, This steepening of the pressure gradient
causes trade winds to blow strongly toward the west.

Meteorologists’ understanding of La Nifia is not as great as that of El Nifio. Less
effort has been spent researching La Nifia, in part, because La Nifia 1s not as powerful
or potentially destructive a force as El Nifio. Whereas El Nifio provokes unusual
weather patterns, La Nifia merely intensifies typical weather patterns.

Scientists were driven to learn more about El Nifio by the reduction of Peruvian
fisheries in the 1970s. La Nifia has no such obvious consequence. It was only in the
1980s, when the far-reaching impacts of La Nifia (called teleconnections) were
discovered, that research into La Nifia began in earnest.

27- The passage answers all of the following questions EXCEPT *eememeeuenn o
1} When did La Nina’s impacts begin to develop
2} Why is La Nina less rescarched than El Nino
3) What gives rise to a shift in the direction of trade winds during El Nino
4) What is the pressure gradient
28- The word “them™ in line 6 refers to ---------—-- :
1) areas 2)ElNinoand LaNina
3) trade winds 4) pressure conditions
19- What causes the air pressure to increase in the eastern Pacific is ----—--- 3
1) the blowing of trade winds toward the west
2} the tilting of the pressure gradient towards the west more than usual
3) the existence of very cold water in that area
4) the pressure there being lower than it is in the western Pacilic
30- Al of the following are used to develop the main topic in the passage EXCEPT -=-eeeeeee -
1} process time order _2) exemplification  3) function description 4) cause and effect
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